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QUESTION 1

The list below (a to e) describes one major task for each of the five main activities of the fundamental test process.

Which option (A to D) places the tasks in the correct order, by time?
a) Create bi-directional traceability between test basis and test cases.
b) Check test logs against exit criteria.

c) Define the objectives of testing.

d) Check planned deliverables have been delivered.

e) Comparing actual results with expected results.

A.a,c b e d

B.c,a,d e b

C.c,a,eb,d

D.d,a,c,b,e

Correct Answer: C

QUESTION 2

Which of the following statements are true in relation to component testing?
a) Stubs may be used.

b)May cover resource behaviour (e.g. memory leaks).

c) Tests the interactions between software components.

d) Defects are typically fixed without formally managing these defects.
A.a,candd

B.a,bandd

C.b,candd

D.a,bandc

Correct Answer: B
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QUESTION 3

Which of the following activities would improve how a tool is deployed within an organisation?
a) Roll out the tool across the organisation as quickly as possible to all users.

b) Provide technical support to the test team for each type of tool.

¢) Limit communication with the tool vendor to allow users to develop their own best practice.
d) Make sure processes are improved to reflect a new tool.

e) Regularly analyse how the tool is being used.

A.a,bandc

B.a,candd

C.b,dande

D. Make sure processes are improved to reflect a new tool.

E.b,cande

Correct Answer: C

QUESTION 4

Which of the following are true of software development models?

a) Component Integration testing is present in all good development models. b) Acceptance testing can take place
before system testing starts. ¢) Acceptance testing should only start when system testing is complete. d) There may be
fewer than four test levels in a V-model.

A.bandd

B.aandb

C.bandc

D.candd

Correct Answer: A

QUESTION 5
Which of the following activities would NORMALLY be undertaken during test planning?

a) Scheduling test analysis and design.
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b) Designing Test Conditions.

¢) Monitoring test progress.

d) Identifying the objectives of testing.

e) Evaluating test tools.

f) Selecting test metrics for monitoring and control.
A.b,candd

B.a,dand f

C.a,dande

D. b, cand f

Correct Answer: B

QUESTION 6

Which of the following is an example of a product risk?
A. Software that does not perform its intended functions
B. Failure of a third party

C. Problems in defining the right requirements

D. Skill and staff shortages

Correct Answer: A

QUESTION 7

The flow graph below shows the logic of a program for which 100% statement coverage and 100% decision coverage is
required on exit from component testing.
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The following test cases have been run:

Test Case 1 covering path A, B, D, G

Test Case 2 covering path A,B,D,E,F,E,F,E, F, E, G

Test Case 3 covering path A,C,D,E, F, E, G

Which of the following statements related to coverage is correct?
A

Statement coverage is 100%; decision coverage is 100%.

B.

Statement coverage is less than 100%; decision coverage is 100%.B.Statement coverage is less than 100%; decision
coverage is 100%.

C.

Statement coverage is 100%; decision coverage is less than 100%.C.Statement coverage is 100%; decision coverage
is less than 100%.
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D.

Statement coverage and decision coverage are both less than 100%.D.Statement coverage and decision coverage are
both less than 100%.

Correct Answer: A

QUESTION 8

Which one of the following is a characteristic of good testing in any lifecycle model?
A. Each test level has the same test objective.

B. There should be more testing activities than development activities.

C. Test design can only begin when development is complete.

D. Testers should begin to review documents as soon as drafts are available.

Correct Answer: D

QUESTION 9

Which of the following matches the activity (i to iv) to its most suitable type of tool (p to s)?
i) Analysis of code structure.

il Generation of test cases.

iii)Simulation of the environment in which a component is run.
iv)Analysis of test metrics.

p) Test management.

q) Test design tool.

r) Static analysis tool.

s) Test harness.

A. i-s, ii-p, iii-r, iv-q

B. i-r, ii-q, iii-s, iv-p

C. i-r, ii-s, iii-p, iv-q

D. i-q, ii-r, iii-s, iv-p
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Correct Answer: B

QUESTION 10

Which of the following would NOT NORMALLY be considered for a testing role on a project?
A. System operator

B. Developer

C. Configuration manager

D. Performance specialist

Correct Answer: C

QUESTION 11
Test Business Dependencies on daher test Other dependencies
procedure 1D Severity procedures
(1= High
2= Medium
3 = Low)
F 1 Cannot start until B tas
complotad
[#] 1 Mone Regression Testing anly
R 2 Mone Mone
o 2 Mone Mone
T 3 Delvery of the code for ths part of system
iz running very late
LI 3 Mone Mone

The above table shows 6 test procedures (P to U) that must now be entered into a test execution schedule. Business
severity is regarded as the most important element in determining the sequence of the test procedures, but other
dependencies must also be taken into consideration. Regression testing can only be run once all other tests have
completed.

Which of the following represents the MOST effective sequence for the test execution schedule (where the first entry in
the sequence is the first procedure to be run, the second entry is the second to be run and so on)?

A.QPSRUT.
B.R,S,U,P,QT.
C.RP,SUTQ.
D.P,Q,R,S,UT

Correct Answer: C
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QUESTION 12

Given the following sample of pseudo code:

Input Examscore
If ExamScore <= 73 then
Frint andidate has ‘ziledO
Else
Frint andicate has cazaecO
If ExamScore == 120 then
Print andidate has achieved a disdinctiono
Endlf
Endlf.

What is the minimum number of test cases required to guarantee 100% decision coverage?
A 2
B.1
C.3
D.4

Correct Answer: C

QUESTION 13

Which ADDITIONAL test level could be introduced into a standard V-model after system testing?
A. System Integration Testing

B. Acceptance Testing

C. Regression Testing

D. Component Integration Testing

Correct Answer: A

QUESTION 14

Which of the following statements is true?

A. Testing cannot prove that software is incorrect.

B. Testing can prove that software is either correct or incorrect.

C. Testing cannot prove that software is correct.
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D. Testing can prove that software is correct.

Correct Answer: C

QUESTION 15

Which tasks would USUALLY be performed by a test leader and which by the tester?
a) Adapt planning based on test results.

b) Create test specifications.

c) Plan tests.

d) Write or review a test strategy

A. ¢ and d by the test leader; a and b by the tester

B. a and b by the test leader; ¢ and d by the tester.

C. aand d by the test leader; b and c by the tester.

D. a, c and d by the test leader; b by the tester.

Correct Answer: D
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